GOVERNMENT POLYTECHNIC COLLEGE BHILWARA
EL-202

1 MID TERM: 27™ November 2017

i- Year Electronics Maximum Marks: 15

All Questions are compulsory/ T Weer Hfoary &

1. Explain the difference betwe'en any 1 of the following: [2 marks]
a. ‘Active and Passive Voltage and Current sources -
b: Independent and Dependent sources

2. Explain Kirchhoff's Voltage Law and Kirchhoff's Current Law with example [3 marks

3. Convert the given circuits from one form to another: [3 marks]
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4. Calculate Thevenin’s Voltage and Resistance in the given circuit to the left of XY [4 marks] 2
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5. Find the voltage drop in the 2 ohm resistor {4 marks]
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b. Deltato Star
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Find the value of the load resistance RLfor maximum power transfer to the load R‘_
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